THIS DRAWING AND THE
DATA. INFORMATION AND
CONSTRUCTION
FEATURES CONTAINED
HEREIN ARE THE
CONFIDENTIAL AND
PROPRIETARY
PROPERTY OF KELLY
SYSTEMS, INC., AND ITS
AFEILIATES AND IS
ISSUED IN STRICT
CONFIDENCE FOR
SPECIFIED PURPOSES
ONLY AND MAY NOT BE
COPIED, DISCLOSED OR
OTHERWISE USED IN
ANY MANNER EOR ANY

} OTHER PURPOSE

(6) 47 KEL2020 WITHOUT THE EXPRESS
SPLIT SLEEVES ” | WRITTEN CONSENT OF
 ALP64401 KELLY SYSTEMS, INC.
COPYRIGHT E KELLY
SYSTEMS, INC.

ALL RIGHTS RESERVED.

. ] 637 L

| |
| 47 ALUM. TUBING |
| |
| |

(2) 4” KEL2020
§ TERMINALS
T RS0 — A444940

SCALE: ?
KELLY DWG NO.:
APS558404
/‘ 2 ) L 4” KELLY ADDRESS:
6 9
B ELLY systems
< ceacoSTo0el SINCE 1904
2 > 4 79 312/733-322L FAX 312/733-6971
AlR
SE
T A D A L
\ E
PROJECT:
| 4” KEL2020
| SYSTEM—AMAZON
d ; KIT
|ISSUE:
: ; ; '1;’2 | %h i
9
65 (2) KEL2020
BLOWERS
T(JE%PJC} A444200
4”7 KEL2020
CONTROL BOX SYSTEM—AMAZON KIT
AEA/H10452
POWERSUPPLY ;i’\i;‘o(;s/os/m e Bv. A

TRACKING NO.:

(1)

SHEET NO.:




6 7
|
47 ALUM. TUBING
|
|

2367

+ —_—

ALPO84§1 ALP0O845

THIS DRAWING AND THE
DATA, INFORMATION AND
CONSTRUCTION
FEATURES CONTAINED
HEREIN ARE THE
CONFIDENTIAL AND
PROPRIETARY
PROPERTY OF KELLY
SYSTEMS, INC., AND ITS
AFFILIATES AND IS
ISSUED IN STRICT
CONFIDENCE FOR
SPECIFIED PURPOSES
ONLY AND MAY NOT BE
COPIED, DISCLOSED OR
OTHERWISE USED IN
ANY MANNER FOR ANY
OTHER PURPOSE
WITHOUT THE EXPRESS
WRITTEN CONSENT OF
KELLY SYSTEMS, INC.
COPYRIGHT E KELLY
SYSTEMS, INC.

ALL RIGHTS RESERVED.

SCALE: 7

KELLY DWG NO.:

APS558404

KELLY ADDRESS:

< EL LY Systenms

L22 N. WESTERN
CHICAGO, IL. 60612 SINCE 1904
312/733-322L FAX 312/733-697]

PROJECT:

4”7 KEL2020
SYSTEM—AMAZON
KIT

ISSUE:

e
TERMINAL
A444940

477
TERMINAL
A444940

P il

CARRIER
5| STOP o5 o
%%T; £ ASSY ATQ%EZWO

ATA/2470

CONTROL BOX
AEA751032
POWERSUPPLY

| DRAWING TITLE:

4”7 KEL2020
SYSTEM—AMAZON KIT

JOB NO:
DATE: 08/06 /24 DWG. BY: MTA

TRACKING NO.:

SHEET NO.:




— el

| & oxe 0
£ WiTH °

i y

A

Control Wire 24vC DC 1/ s s Mm'f
| DESIGNED FOR INDOOR USE

NO.| PART NO. |RQ

1| AE751032 1 | TIMER BOARD

2 | AEB35046 1| 24vDC 1A POWER SUPPLY

3 | AE6O5142 1 | 24V PUSHBUTTON

4 | AE718015 1 | TERMINAL STRIP

CONTROL BOX
AEA /010587
POWERSUPPLY

4”7 KEL2020 SYSTEM—AMAZON K|T | WESSSKELLY systems

Drwn 08/06/24 MTA

L22 N. WESTERN

CONTROL BOX POWER SUPPLY CHICAGO, IL. 60612 SINCE 1904

312/733-322L  FAX 312/733-6971

Rev. AEA751032

Mo. APS558404—-3




NO.| PART NO. RQ DESCRIPTION FRONT _ f

1 | K2020-ALP64624| 1 [SLEEVE 6 1/8" 0.D. X 7 15/16" UmN

2 | K2020-ATP64428 | 1 | SLEEVE 4” I.D. X 3" 99
3 | K2020-ATPO1457 | 1 | MOTOR PLATE ) 5

4 | K2020-ATP01458 | 1 | TOP PLATE

5 | K2020-ATPO1459 | 1 | BOTTOM PLATE 3. ¥ V

6 | K2020—ALP57405| 1 | NIPPLE 6” O.D. X 2" S——S-—o—=—=geos====_ _ 1
7 | K2020-AE605622| 1 | GREEN PUSHBUTTON —A !

8 | K2020—-AE484022( 1 | MOTOR

877

l -

-6 1/8" 0.0

SLOWER BASE
A444200

4” KEL2020 SYSTEM—AMAZON KIT | TESSSKELLY systemg | i oo

L22 N. WESTERN Rev. A444200

BLOWER BASE cHens L8002 oeseon |lin. APS558404—4




=z
o

PART NO.

RQ

DESCRIPTION

ATAO1445

K TERMINAL SLEEVE

AS010401

HINGE PIN TERMINAL

ATP01462

K TERMINAL CLEAR POLY FRONT

ATP01461

K TERMINAL GRAY POLY BACK

ATP01463

GRAY SLIDER LOCK

AS001243594

HEX HEAD BOLT 5/16" X 4 1/2”

AS002008S

HEX NUT 5/16"

(N[O~ W[IN|—

ALP28902

LANDING BAR RUBBER STRIP

©

AS281001

GROMMET 5/16”

o

K2020—ATA04402

K TERMINAL DOOR STEAL 12 3/4"

—_
—_

ATP04403

K TERMINAL DOOR STEAL 6 3/4”

N

ALP78302

3” ALUMINUM TUBE INSERT 0.065

W

ALA71401

N N VNG ST S 1 N (N N I D I NN I

4” 7O 3" REDUCER

2 Kv

TERMINAL SL
EEV
A444940 .

i

it
an

s

#ll

i

rem

w
WETHRTARAA

‘44444 t

Uity

i

7

M

.
— —
i
l‘

kS

il
FRRARRY

)

CARRIER STOp

A
ATA72410 =Y

[

1

4!!

LY systems

Drwn 08/06/24 MTA

KEL2020 SYSTEM—AMAZON KIT oo, SINCE 1904

312/733-322L  FAX 312/733-697|

Rev. ?

No. APSS558404—11



AutoCAD SHX Text
 K TERMINAL SLEEVE

AutoCAD SHX Text
 HINGE PIN TERMINAL

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
 K TERMINAL CLEAR POLY FRONT

AutoCAD SHX Text
 ATP01462

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
ATA01445

AutoCAD SHX Text
AS010401

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
NO.

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
RQ

AutoCAD SHX Text
 ATP01461

AutoCAD SHX Text
1

AutoCAD SHX Text
 K TERMINAL GRAY POLY BACK

AutoCAD SHX Text
6

AutoCAD SHX Text
 GRAY SLIDER LOCK

AutoCAD SHX Text
 ATP01463

AutoCAD SHX Text
AS001243S94

AutoCAD SHX Text
 HEX HEAD BOLT 5/16" X 4 1/2"

AutoCAD SHX Text
 HEX NUT 5/16"

AutoCAD SHX Text
 LANDING BAR RUBBER STRIP

AutoCAD SHX Text
 ALP28902

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
 AS002008S

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
 AS281001

AutoCAD SHX Text
2

AutoCAD SHX Text
 GROMMET 5/16"

AutoCAD SHX Text
11

AutoCAD SHX Text
 K TERMINAL DOOR STEAL 12 3/4"

AutoCAD SHX Text
K2020-ATA04402

AutoCAD SHX Text
 ATP04403

AutoCAD SHX Text
 K TERMINAL DOOR STEAL 6 3/4"

AutoCAD SHX Text
1

AutoCAD SHX Text
12

AutoCAD SHX Text
 ALP78302

AutoCAD SHX Text
 3" ALUMINUM TUBE INSERT 0.065

AutoCAD SHX Text
1

AutoCAD SHX Text
13

AutoCAD SHX Text
ALA71401

AutoCAD SHX Text
 4" TO 3" REDUCER

AutoCAD SHX Text
APS558404-11

AutoCAD SHX Text
INCORPORATED

AutoCAD SHX Text
Drwn

AutoCAD SHX Text
Rev.

AutoCAD SHX Text
08/06/24 MTA

AutoCAD SHX Text
?

AutoCAD SHX Text
4" KEL2020 SYSTEM-AMAZON KIT


4” KEL2020 SYSTEM—AMAZON KIT
SPLIT SLEEVE

LY systems

Drwn

08/06/24 MTA

422 N. WESTERN
CHICAGO, IL. 60612 SINCE 1904
312/733-322L  FAX 312/733-697]

Rev.

ALP64401

. APS558404—5




4” KEL2020 SYSTEM—AMAZON KIT | TELLY Syolomy o

L22 N. WESTERN Rev. ALP12803

CHICAGO, IL. SINCE 1904
UNI=STRUT 3|2/733'-322206|£Ax 312/733-697I No. APS558404—06




Mg i

4” KEL2020 SYSTEM—AMAZON KIT

LY systems

Drwn

08/06/24 MTA

422 N. WESTERN
CHICAGO, IL. 60612 SINCE 1904
312/733-322L  FAX 312/733-697]

Rev.

?

. APS558404—7




N ELLY systerms | 08/06/24 MTA

4” KEL2020 SYSTEM—AMAZON KIT cmeato e 606 Rev. i

CHICAGO, IL. 60612 SINCE 1904

312/733-322L  FAX 312/733-697] No. APS558404—-8




aN3d Lvd

A7404 47
~a—— Tp ESCOPING

CARRIER

< ELLY systerms |[Pwn 08/06/24 MTA

4” KEL2020 SYSTEM—AMAZON KIT éjiANG'OYV,ELS_TE%Z,Z SINCE 1904 Rev. ?
312/733-322L  FAX 312/733-697 No. APS558404—-9




:
|

NO.| PART NO. RQ DESCRIPTION
1 | A444940 1 14" TERMINAL

2 | A444200 1 |BLOWER

S | AEA751032 1 |CONTROL BOX

4” KEL2020 SYSTEM—AMAZON KIT

- 4E ”
| 4
- TERMINAL
3 A444940
A I
9 . CARRIER
2 _ 5 STOP
ASSY
ATA72410

CONTROL BOX
AEA751032
POWERSUPPLY

&b |
< EL LY systems
L22 N. WESTERN

CHICAGO, IL. 60612 SINCE 1904
312/733-3224L  FAX 312/733-697]

A
N
3 5

Drwn 08/06/24 MTA

yie Al

Rev. ?

0. APS5358404—10




	(1) APS558404 Kel2020 Amazon System 3D-APS558404 KEL2020 SYSTEM-AMAZON KIT
	(2) APS558404 3D KEL2020 AMAZON ASSY
	(3) APS558404 Kel2020 Amazon Power Box 3D-AEA4751032
	(4) APS558404 Kel2020 Amazon Blower 3D-A444200
	(5) APS558404 Kel2020 Amazon Split Sleeve Coulpling 3D-ALP64401 (5)
	(6) APS558404 Kel2020 Amazon Uni Strut 3D-ALP128003
	(7) APS558404 Kel2020 Amazon 4 Inch O.D. 36 Inch Bend 3D-ALP08451
	(8) APS558404 Kel2020 Amazon 4 Inch Air Seal Tape 3D
	(9) APS558404 Kel2020 Amazon 4 Inch Telescoping Carrier 3D-A7404
	(10) APS558404 Kel2020 Amazon 4 Inch Terminal Power Box & Blower System 3D
	APS558404 Kel2020 Amazon 4 Inch Terminal Power Box & Blower System 3D.pdf
	Sheets and Views
	APS558404 (11)



